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Problem: 1

Money in a bank triples every 8 years. If $100 is deposited today, what
will its value be after 32 years?

58,500 $8, 100 $1,600 5400

Problem: 2

The y-coordinate of the point of intersection of the graph of
—r + 4y = =50 and x + y = 20 is

6 0 —14 —6
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Problem: 3

The rectangular box shown below has a square base and a closed top.
The height is twice the length of one side of the base. Its surface area
in terms of x is

/i /
/i y,
2x
/
S X
X
20z S + 22 1022 6
Problem: 4

If 213 is approximately equal to 8000, then, of the following, which best
approximates 2267

640,000 6,400, 000 64,000,000 8000

Problem: 5
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275.64%/3 =
1 1
nl12 = 1 !
Problem: 6

If f is a function whose graph is the parabola sketched below then
f(x) < 0 whenever

14

j\_

24

-8 -4 -3 =2 =1
-1 4

-7 4
-3 4

- a4

-8

r<lorx>3 r <1
r >3 l<ax<3
Problem: 7
If log,(x — 6) = 6 then r =
70 64 5Ye! 6 16

log, 6
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Problem: 8

A function [ is even if f(—x) = f(x) for each = in the domain of f. Of
the following, which best represents the graph of an even function?

(a) u (b} y

(c) ’ (dy y

Problem: 9

(22 — 3)(x +5)
xr =T

57, —32 5 or

If = () then x =

-5, 7, or 2 ~5or 3

b |





ap-calc.github.io


Are You Ready 4 Calculus | Test 2 | AP Calculus AB/BC | © ap-Ca|C.github.io

Problem: 10

Of the following, which best represents the graph of 22 + y? — 2y = 07

) ' (1] ¥
- ?}
) Y () v
(a) (b) (c) (d)
Problem: 11
If f(x) = %‘E then f(n+1) =

§ 5'ﬂ+3+l n 4+ 8 5n + 4
J 2n + 3 2n 4+ 5 2n + 4

Problem: 12
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The slope of the line that goes through the points (—5,4) and (3, —12)

18
1
2
Problem: 13

—2 4

Find all solutions to the equation 32% = 4z + 1.

247 2—V7
4/3,1/3 3 0 3
1+3/2 4—32 2442 2—42
6 ? G 3 7 3
Problem: 14
In a standard coordinate system, the graph of the equation y = —3x+7

15

Problem: 15

a line falling to the right

a horizontal line

a line rising to the right

not a line
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The inequality |z — 4] < 8 is equivalent to

—4 < r <12 —12<xr<4
—12 < xr <12 r <12
Problem: 16

The quantity a — b is a factor of how many of the following?

a’ — b2 a? + b2 a® — b a’ + b*

one only two only three only four

Problem: 17

In the figure shown below, what is the distance between the points P
and Q7

P(-2.0) R(1.6)

N -

N

w

11 7 6 D
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Problem: 18

The length of a certain rectangle is 6 meters more than twice its width.
What is the perimeter of the rectangle if the area of the rectangle is
260 square meters?

54 meters 60 meters 66 meters 72 meters

Problem: 19
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What is the area of the rectangle shown in the figure below? (Note:
The figure is not drawn to scale.)

f(x)=x3—x+7

Problem: 20
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A rectangle R has width a and length y. A rectangle S is formed from
R by multiplying each of the sides of the rectangle R by 4 as shown in
the figure below. What is the area of the portion of S lying outside R?
(Note: The figure is not drawn to scale.)

S

16y

Problem: 21

day

What is the radian measure of an angle whose degree measure is 240°7

ris

3

Problem: 22

csce(30°)
2

X

S

4

Ax
3
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Problem: 23

For which values of 2 in the interval 0 < 2 < 27 does

(sina — 1)(sinx — 5) = 07

™

2

only

1 and 5

0 and 27

Problem: 24

In the figure below, if sin R =

P

L= ey

on

and r = 2, then what is ¢7

|
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Problem: 25

In the right triangle shown in the figure below, tanf =
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Problem Answer Problem Answer
1 B 21| D
2D 22 | A
3|C 23 | A
4|C 24 | A
5/D 25| D
6D
7 A
8| C
9D
10 | C
11 | C
12 | C
13| B
14 | A
15| A
16 | B
17 | D

D
D
B

N
(=)
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